AS

BEXTFLFRRELEZE? F3)

SR EET A
(F)AERFERT Y %

109 # 8 7 At A & RIHF

A EF* RAC 107 & 4, 027 § ~
§riE 6,071 § ~
0. 56%
109 #8187 Kb PR 0§~
EEE TR S 22k N 0%
A . 6,071 § ~
v i 0. 56%

EI_ 1:% I% xgvl*rﬁ]ﬁw—-y % 'léﬁﬂfﬁ;’ﬁ’” (f'f”izn_—l()gﬁ’ B’T‘ij% )’%Jﬁ'

T2 z$$léf‘nb| %;’-&$ﬁﬂ;+}‘§4f§\ EE N

23 109=8" K

7 p # i FREE b (%)
i 10, 740, 274, 027 100. 00
Eor &2 S if) 10,677,418, 639 99.41
or £ B (A 4 i) 62, 855, 388 0.59
& 3 10, 740, 274, 027 100. 00




(Z)REPFRFTHLART Y 0l

£31109# 87" K

7 p £ i dAEE B (%)
fodsoE 10, 740, 274, 027 100. 00
13 g ¥ 0 0. 00

(Z)AERP ELFTHRHPIRT G

£1109# 87" K

% P £ " ¢AEEH ] (%)
B p R F 10, 740, 274, 027 100. 00
B och R 0 0.00

AP ¥RTER
()R8 YRTH% (AF EERS)

23110928 K

b1 B o7 % (%)

CIAEPFUREZXIZBELT Y bR
£3109#87 &

7 3 £ i v (9%)
RpEE#ES 0 0




